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When you multiply a pair of numbers, the result \‘L e * o 75 ) suecounts

is called the product of the numbers. You can , '® e e o e 10 >thedotsby

represent a product usmg an array. : " ‘e e o o e 45 | Skipcounting by 5s.

Sue writes a multiplication statement for the array: . 3x5 = 15 ’(3 and 5 are called factors of 15)

. ’Write a multiplication statement for each array.

a) o ® [ J ® b) [ ] . ® ‘ ® o C) [ J o o ® | .V
e’ o o o ' o o o o o : e o o oo °
’ ’ L ] [ J [ ] [ J L
..v o o o | ] ﬁo e o 0 . . . . .
_ 3 rows - _ . rows '
4  dotsineachrow - __ dots in each row
3x4=12 ' |
2 ‘Write a product for each array '
a),. ~ e o o b) : : C) LI d) : :
4x3 )t - D
_ »‘7'?' ' SK * o o e o L
rows: dots . v : :
ineach~® ® * , e e o
ow.
Draw arrays for these products.. : _ o
a) 2%5 | m‘3x7, c) 4x6  d) 1x8 - e) 4x2
4. There are only three ways to arrange 4 dots i in an array. o e
So there are only 3 ways to write 4 as a product of two factors , .
. e o . | L . . =
e o o » q1x4=4 - 2.X2=4 o 4x1=4

e .0 . o
How many ways can you wrlte each number as a product of two factors’? (Draw arrays to heip.)
a) 6 'b) 8 . q 9 d) 10 . e 12

5 The numbers that appear beside the arrays in Questron 4 are called the factors of 4.
The factors of 4 are the’ numbers 1,2, and 4. '

Write a list of factors for the numbers 6, 8, 9, 10, and 12.
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